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BEAKE VbR
A= 0.0605°2X 1 /4X4 = -0.01 m2
Wr i S 1 PR (38 TaifiE X K v)
A= 2.613+2.772 = -5.39 m2
T LR L XD
AE B
A= 1.75m2+1. 87m2 = 3.62 m2
ALKG 5 foBE - EXRE
A= 0.96m2X2+2. 05X0. 15+5. 14X 0. 30+5. 04X 1.00 =  8.81 m2
& R
A= (1.095X242.05) X 1. 06 = 4.49 m2
A2KG BRI
A= 1. 71m2+1. 69m2 =  3.40 m2
fitgBE « EXEE
A= 1.00m2X2+2.05X0. 19+5. 14X 0. 30+5. 04X 1.00 =  8.97 m2
& R
A= (1.095X242.05) X 1. 06 = 4.49 m2
Wr s 2ERR (R LaE T L)
A= 1.733+0. 956 = -2.69 m2
SA = 125.71 m2 125.7 m2




BB Rk
Tuyr o —iKEHE

X Al
HBI B _ A =N o =
IR EAR TR AR T LY

7S

=R, J-8An| Al= 11.54X1.093X2 = 25.23 m2
A2= (5. 38+4.52)/2X0.437X2 = 4.33 m2
A3= (5.29+4. 43) /2X0.437X2 4.25 m2
A= (2.05+1.20)/2X0. 441 X4 = 2.87 m2
A= (4.52+4.43) X 1.20 = 10.74 m2
M7
Al= 11.54X0.81X2 = 18.69 m2
A2= 9.46X0.45X2 = 8.51 m2
A3= (11.54X%0.81-(0.23+0. 31+0. 33) X0.66) X2 = 17.55 m2
AR AA T
A= 2.05X (0. 66+0.23)+(2. 05+1. 20) /2X0. 10 = 1.99 m2
Fh AR AT
A= (2.05X0.66+(2.05+1.20) /2X0.10) X2

+2.05X0.31 = 3.67 m2

AR S AEA T
A= 2.05X (0. 66+0. 33)+(2. 05+1. 20) /2X0. 10 = 2.19 m2
BEAKE YRR
A= 0.0605°2X x/4X4 = —0.01 m2

XA = 100.01 m2 100.0 m2




AR

:ﬁ]]]?

BB Rk
Tay s —RETEE

X Al
LS _ ‘ A =N o =
IR EAR A - MRS TIX (5/6) LV
Al= 11.54X0.31X2 = 7.15 m2
vivGe. n=9-LBA0 A2= (1.53X2+1.575X3+1.585) X0.0775X2 = 1.45 m2
A3= (11.54X%0.2275-0.31X0.075X7) X2 4.93 m2
Ad= 11.54X0.15X2 = 3.46 m2
A5= (0.99X0.515X4-0.50X0.15-0.85X0.31) X3 = 5.10 m2
R - HiFEAIE 1T (6/6) X 0
Al= 0.31X0.85X7X2X2 = 7.38 m2
A2= (1.53X2+1.575X3+1.585) X0.16X2X2 = 6.00 m2
A3= ((1.53X2+1.575X3+1.585) X0.59-0. 60
X0.31X6) X2X2 = 17.65 m2
Ad= 0.31X0.31X7X2 = 1.35 m2
A5= (1.53X2+1.575X3+1.585) X0.235X2 = 4.40 m2
A6= (1.53X2+1.575X3+1.585) X0.04X2X2 = 1.50 m2
A7= (0.85X0.31-0. 16X0. 235-0. 59 X 0. 155)
X12X2 = 3.23 m2
A8= (0.60+0.31) X2X0. 155X 6X2 = 3.39 m2
TE LR RGE T LD
AFBH
A= 1.75m2+1. 87m2 = 3.62 m2
ALFEE ke « BXRE
A= 0.96m2 X 2+2. 05X 0. 15+5. 14X 0. 30+5. 04 X 1. 00 = 8.81 m2
& JEE
A= (1. 095X 2+2.05) X 1.06 = 4.49 m2
A2KG E
A= 1. 71m2+1. 69m2 = 3.40 m2
flgkE - EXRE
A= 1.00m2 X 2+2.05X0. 19+5. 14X 0. 30+5. 04 X 1. 00 = 8.97 m2
1 A
A= (1.095X2+2.05) X 1. 06 = 4.49 m2
XA = 100.77 m2 100.8 m2




5.10 1k



e TR R R

o Btk LA # B =
e TYPE Al m2 47.9

v=baR Y BiEg (K i) TYPE A1-3 m2 47.9

A EHEAR 6 e TYPE E m2 18.5

N

223 i i 2B AH 40




B R

Tuy s —EEEE

X Sl
SISk N =

o ey
TYPE Al A= 5.12X9. 36 47.92 m2 47.9 m2
v=hiE Y BhE (PR )
TYPE A1-3 A= 5.12X9. 36 47.92 m2 47.9 m2
R e
TYPE E A= 0.80X11.58X2 18. 53 m2 18.5 m2
V=M TER,
A2 E i 5B

TREFLD

N= 20X2 40 AH 40 ANH




